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B2E=) Wartd | ®and | S¥% | HE
Ark(171/300~3509) 2,146 2,323 177 -7.62%
Hi (17H/650~700g) 3,796 3,798 2 -0.04%
2(171/1kg) 1,482 1,408 74 5.26%
Hi 2=(1 27| /3kg) 4,279 4,239 40 0.94%
CHitH(15/S/1kg/2E 7HA) 2,582 2,456 126 5.13%
20|(37H) 2,563 3,095 532 -17.19%
K| 07| (= 4F/2FE4/6009) 18,332 14,262 4,070 28.54%
SET= SE7|(10H2] /1kg) 7477 6,944 533 7.68%
(16E5) A D 7|(=Z /=7 HE LK /1S 39,736 39,916 180 -0.45%
4|1 7| (=452 /6009) 68,546
=2 (12t/C 2H/307H) 6,954 6,836 118 1.73%
Z7|(10t2| /= 4t/15cm) 1,238 1,273 36 -2.81%
ZX|(10t2]|/=4H/80ecm) 7,731 8,807 1,076 -12.21%
dso0{(10r2]/=LtH/30cm) 3,797 4,045 248 -6.13%
HEf(10r2]/2H A|OFLF/40¢m) 3,533 3,860 327 -8.46%
Qd0j(10t2|/3-=/30cm) 4,639 4,523 116 2.56%
% (20kq) 59,070 59,920 850 -1.42%
2| (=4/1kg) 3,298 3,412 114 -3.34%
LIt (1kg) 1,578 1,664 86 -5.17%
7t0F=(1kg) 11,277 10,719 558 5.21%
7tF (5 EH=2/1ka) 1,679 1,716 37 -2.16%
2 ((152/300g/3 At +W1| 1,195 1,255 60 -4.78%
MEE M%%(1.8L/+7| 7,160 6,809 351 5.15%
(14E5) 7rT (1kg/= LHM) 28,503
D1| =(1kg/= LA 11,090
7+Xr (Tkg/= L 4h 5,013
*'Ler =/5009) 2,448
3|22 (L) 1,947 1,971 24 -1.20%
74 S2(1L) 1,942 1,883 59 3.14%
S(1L) 1,422 1,376 A7 3.38%
AT(1 %' 360mQ/_+_DH7.§1) 1,454 1,441 13 0.90%
O 2= (19 500me/A 01 ) 1,588 1,549 39 2.52%




